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EN (HAL - M. %)
K RR29MFERE | K28 L IR
1 [ R A 1,797, 485 1, 825, 089 A27, 604 Al.5
2 [EJE 4 2,301, 069 2,357, 297 A56, 228 A2 1
3 EEHMNEERMNE 154, 460 271, 538 A117,078 A13.1
4 Hi E AT 4 2, 847, 818 2,753, 139 94, 679 3.4
5 1H X Hi4> 540, 510 540, 743 A233 0.0
6 IHFRIFFER 4 2,626, 512 2,726, 836 A 100, 324 A3.7
[ N 951, 000 1, 007, 000 A56,000 A5.6
8 FEULA 864, 186 887, 324 A23, 138 A2.6
ik, N & s 12,083, 040 12, 368, 966 A 285 926 A2 3
Jdan]
K R0 | R8RS L ARG
1 s 104, 145 103, 477 668 0.6
2 PRI E 6, 956, 621 7,125, 525 A 168,904 A2 4
3 Wl e 1,072,519 1,104, 115 A31,596 A2 0
4 Hi e A A 4, 251 1, 062 3, 189 300. 3
5 AL 4 16 16 0 0.0
6 E AR 4 60 50 10 20. 0
T IRt 4 426, 678 412, 928 13, 750 3.3
8 JL[EIFEHM & 2,626, 534 2,726, 781 A 100, 247 A3.7
9 {RUEFEE 133, 815 136, 611 A2 796 A2 0
10 NME2 600 600 0 0.0
11§84 7,801 7,801 0 0.0
12 Timer 150, 000 150, 000 0 0.0
13 b8 H 4 600, 000 600, 000 0 0.0
% H = i 12,083,040 12, 368, 966 A 285 926 A2 3
O3 P b 25 S i
N (AL - M. %)
K P29 | Rk 28 L HEJEER
1 ANEARE R O PEAN 142,071 132, 292 9, 779 7.4
O\ 902 2,992 A2, 090 AGO. O
% A = 2t 142, 973 135, 284 7, 689 5.7
%
o 29 | RN 284 i HEIRCE
1 N M A i i 5, 344 5, 149 195 3.8
2 INfEE 1, 597 3, 394 A1, 797 A52.9
3 hEX 4 11, 590 2,299 9, 291 404. 1
4 e EFE A 124, 442 124, 442 0 0.0
% H & E 142,973 135, 284 7, 689 5.7
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E PRR29FERE | K28 Lhig HEIRCE
1 A 13,075 13, 275 A200 Al.5
2 MAE 23, 700 25, 500 A1, 800 A7 1
3 ek 100 100 0 0.0
4 FEIA 649 649 0 0.0
%, N & &t 37, 524 39, 524 A2, 000 A5 1
K R0 | SR8 E L IR
1 KesEr 24,118 26, 118 A2 000 A7 7
2 INEE 13, 306 13, 306 0 0.0
3 Tl 100 100 0 0.0
7% tH = g 37, 524 39, 524 A2 000 A5 1
N (HAL - FH. %)
2K PRR29MFEE | ERk28 L AR
1 oy fE4a K OVEfH 4 1, 148 1,171 A23 A2.0
2 fE B VR 84, 665 86, 328 A1, 663 Al1.9O
3 |EJE X4 498 334 164 49. 1
4 APEIAN 692 692 0 0.0
5 A4 512, 155 531, 073 A18,918 A3.6
6 HbEi4 1 1 0 0.0
(3N 60 60 0 0.0
5%, N = s 599, 219 619, 659 A20, 140 A3.3
K RG29S | A28 b HEJRCE
1 #HHEE 580, 798 593, 314 A12,516 A2 1
2 INEE 18, 321 26, 245 A7, 024 A30.2
3 T 100 100 0 0.0
% H A 2 599, 219 619, 659 A20, 140 A3.3
408 FH v e 2t
N (AL . T, %)
K ERR29FEE | AR 28 b HEJRCE
1 ANEARZER DM ERA 33, 015 59, 394 A26, 379 A4 4
JANG & WG 0 4,619 A4, 619 BT
i N i 33, 015 64, 013 A 30, 998 A48. 1
S R0 | A28 EE Heag HAJRCE
1 A3 M g 7,990 8, 958 A 063 A10.8
INE R 25 55 A30 A51.5
3 M bFEA4 25, 000 55, 000 A 30,000 A54.5
% H & E 33,015 64, 013 A30, 998 A8 1




FRBIEE RS

N (HAL - FH. %)
K PRR29FERE | K28 Lhig HEIRCE
1 AR OV FECE 40, 434 43, 344 A2 910 AG. 7
2 Ex 4 1, 750 2, 000 A250 A12.5
3 A& 65, 353 52, 779 12, 574 23. 8
4 k4 1 1 0 0.0
5 UL 1 1 0 0.0
A A4 K OVEE A 0 66 AG6 R
%, N = i 107, 539 98, 191 9, 348 9.5
K R0 | SR8 E L IR
1 KesEr 15, 813 15, 769 44 0.3
2 eExEEE 69, 500 55, 545 13, 955 25. 1
3 ANMEE 22,226 26, 877 A1 651 Al17.3
% H A 2 107, 539 98, 191 9, 348 9.5
IR pRg
1 PRERSEZEE
N (HAL - FH. %)
2K PRR29MFEE | ERk28 L HEJRER
1 R} 1,508, 571 1, 493, 945 14, 626 1.0
2 [EJHE 4 2,118, 167 2,024, 612 93, 555 4.6
3 NIRRT 4 2,348, 419 2, 250, 663 97, 756 4.3
4 B4 1, 268, 638 1,217, 302 51, 336 4.2
5 UPEIA 473 113 360 318. 6
6 A4 1,415, 219 1, 315, 086 100, 133 7.6
7T KR4 1 1 0 0.0
8 FHILA 833 832 1 0.1
%, N o 2 8, 660, 321 8, 302, 554 357, 767 4.3
dan
K VRO | k28 e S
1 ewE 154, 450 144, 486 9, 964 6.9
2 AR 7,944, 575 7,754, 196 190, 079 2.5
3 MR 556, 822 399, 458 157, 364 39. 4
4 FEBFE A 473 113 360 318. 6
5 x4 4, 000 4, 000 0 0.0
6 TliE 1 1 0 0.0
Jid tH = i 8, 660, 321 8, 302, 554 357, 767 4.3
2 fri#EY—ERfEE
N (HAL - M. %)
K R0 | A28 EE Heag HAJRCE
1 H$—r2ILA 19, 549 22,732 A3 183 Al4.0
R R 1 1 0 0.0
i N & 19, 550 22, 733 A3, 183 Al40
[dan
K R0 | A28 E g HAJRCE
1 H—bzxHES 19, 549 22,732 A3, 183 Al141.0
2 TIHE 1 1 0 0.0
ik tH = i 19, 550 22,733 A3, 183 Al1.0
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R (AL - TH. %)
K PRR29FERE | K28 L HEIRCE
1 e E s R OR A 929, 000 919, 000 10, 000 1.1
2 AL 359, 808 356, 430 3, 378 0.9
3 A4 1 1 0 0.0
4 FEIA 5,010 4,010 1, 000 24.9
%, N = 2 1,293, 819 1,279, 441 14, 378 1.1
%
K R0 | K28 L IR
1 KesEr 20, 725 16, 606 4,119 24. 8
2 %l A A 4 1, 268, 094 1, 258, 835 9, 259 0.7
3 kx4 4, 000 3, 000 1, 000 33.3
4 TlmE 1, 000 1, 000 0 0.0
%, H = 2 1,293, 819 1,279, 441 14, 378 1.1




